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4. Given 4x -2y =12, find 4y

N 2u = HX-12 _
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5. Given 3x — y = 4, find 6y.
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Geometric Applications:
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7. The width of a i’ectangle i€710 cm less than the length, !; the are? is 71 square cm. Write an equation

to represent the area of the rectangle. Do Not Solve.
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8. The length of a rectangle is (3x —4) feet and the width is (2x) feet. Write an equation to represent
the situation if the area of the rectangle is 118 square feet. Do '

A=Leo W=\ |8=2X Yy
W‘& = (oXE-

Domain ond Range: —

/ .
= L (e ;%m@agwf%

LN

1wl
9. What is the range of the function f{x) = -2x +10 when the domain is {-4, -1, 0, 2}?
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10. What is ‘the range of the function f(x) = 3x*+4 when the domain is { 3 -2,0, 4}
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Solutions of Inequalities

11. Jessie bought items for his pool party. He purchased x bags of chips at $3.50 each and y liters of
[~ sodaat $2 each. He 'm' spend. What is a reasonable number of bags of chips and

- liters of soda that Jessie purchased? < &Sy X+ a:j 4 "'3\@
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12. An automobile repair shop charges a service fee of $50 plus $20 per hour for the mechanic’s time. A
customer receives an estimate offat least $150¥or repairing his car. What is the minimum amount of

hours the repair shop is estimating it will take? 50 4O > }5 O
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Systems of Equations:

13. Match the systems to their solution
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14. Write the system that could be used to compare the following t-shirt companies:
*T-Right costs $40 for the first 10 shirts and $2.50 for each extrashirt (O CO S4
*Shirts-R-Us costs $60 for the first 10 and $1.50 for each exira shirt A A =S e

Tesgnt - C o= 40+ A6 (- 18 TR RUs

Drarz-R0s: C = L0 ¥ L‘:’SQ(t"“}L

Evoluate Functions

If f(x)= XTM and g(x)= 2x°-7, find each value: _
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